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1. £341H2013.07.17)
AlB ) i ) HRes ° B =x=g | X3
=W ys | 52 A =) miny | @) Hfar) | 0%
#1 L upst 9:30 ~ 13:30 | 10.35 | 2.451.10 | 0.0014 | ojgt
42 = g 9:33 ~ 13:33 | 10.30 | 2,439.26 | 0.0014 | ojot
=5
ZANM
(4point) i
#3 2 s 9:36 ~ 13:36 | 10.33 | 2.446.36 | 0.0014 | ojot
#4 A et 9:40 ~ 13:40 | 10.35 | 2.451.10 | 0.0013 | ojgt
stolz
e #5 A 9 10:40 ~ 12:40 | 10.34 | 1.220.32 | 0.0030 | ojat
(1point)
Ol AHAdH
ol #6 ol 9:50 ~ 10:30 | 10.37 412.03 0.0043 | ofg
m
(1point)
So7IBT|uET
#7 =T143:00 ~ 13:40 | 10.36 407.56 0.0045 | o|g
0.3~1mo]Ly
S|
2point
(200 S
#8 14:50 ~ 15:30 | 10.32 405.99 0.0051 | ofg
3~1mo|Ly
H 7|2 9hE Lo A
P 14:00 ~ 14:40 | 10.31 405.59 0.0053 | ojgt
H7|2 1m OfLH
25T
(2point) H 7| 2HHE 0| M
#10 === 15:50 ~ 16:30 | 10.38 408.35 0.0047 | ofgt
1m O|Lf
7| 2okx x| M o
P 17:10 ~ 17:50 | 10.32 405.99 0.0052 | ojoF
H7|2 Z 2B 1m OfLf
OFx{ x|
(2point) HZ| 20 X|HE 2
#12 17:55 ~ 18:35 | 10.33 407.53 0.0054 | ofg
2 2E 1m O|uf
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2. EXZA1H(2013.07.18)

%t

)

IH'

:Iru

=]
-

(

}OI'FFLI
AJ

rEz

/)

#1 8:00 ~ 12:00 10.32 2,443.99 0.0015

#2 8:03 ~ 12:03 10.34 2,448.73 0.0013

£2X|
AAM
(4point)

#3 8:06 ~ 12:06 10.34 2,448.73 0.0014

#4 8:10 ~ 12:10 10.33 2,446.36 0.0014 ol gk

M

?_
(1point)

0?:

Sl e

AR ZFE
1mo|Ly

119

#5 8:20 9:00 10.32 412.80 0.0046

=71 SA|S7IHET

[e]
#6
0.3~1moJuy

9110 9:50 10.36 414.40

0.0049 ojgk

(1point)

H7[=
&
(1point)

H 7| = gHEFoll A

#7
1m OfLh

11:20 ~ 12:00 10.32 405.99 0.0047

H 7|20 XIHS

#8
2 F5 1m o[y

16:00 ~ 16:40 10.33 405.04 0.0053 ojgt

H2|=E
OFM X ™

(3point)

H 7|20 X|H2

#9
2 58 1m OfLh

16:05 ~ 16:45 10.35 405.83 0.0050

H 7|20 XIHES

#10
2 & 1m oful

16:10 ~ 16:50 10.31 404.26 0.0047 ol gk
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3. £XZA1(2013.07.19)
N ) i ) Haes o 2 =M=t | =3
=T s | 59 SA IZE) | min) (0) Gh/or) | of=
#1 Lt ubst 8:00 ~ 12:00 | 10.32 | 2.427.92 | 0.0014 | ojgt
#2 = 95k 8:05 ~ 12:05 | 10.36 | 2.437.33 | 0.0014 | ojgt
2X|
ZANM

(4point) i

#3 2 ups 8:08 ~ 12:08 | 10.31 242556 | 0.0015 | ojgt
#4 OIS 810 ~ 1210 | 10.33 | 2.430.27 | 0.0013 | ojgt

ol A A H

ol #5 o ol 8:20 ~ 9:00 | 10.35 412 42 0.0043 | ot

m

(1point)

so7 R E S

, e =T 9130 ~ 10:10 | 10.31 411.02 0.0050 | ojot

(1point) 0.3~1mo|Ly

o= i}

] 7|2 uETo|

HEE T | #7 o1& o= 16:20 ~ 17:00 | 10.33 402.40 0.0048 | ojot

_ M 1m O|Lf

(1point)

HZ| S0 X|H2

#8 17:05 ~ 17:45 | 10.36 403.57 0.0053 | oot

2 He 1m oLy

7| 2ok K| 2

4 |W7IE 17:07 ~ 17:47 | 10.33 402.40 0.0050 | ojgk

H7|2 2 25 1m O

OFx{ x|

(4point) H7| S0 XS

#10 17:10 ~ 17:50 | 10.31 401.62 0.0054 | ojot

2 2e 1m o|uf

H7| S0 X|H2

P 17:15 ~ 17:55 | 10.36 403.57 0.0055 | ojgF

2 e 1m oLy
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4, X ZA1(2013.07.20)
AR _ ) _ Hass S 2 =2x=g | =1}
=W ys | 52 A ZHE) | (/min) (0) Hfar) | 0%
#1 Lt ubsk 10:10 ~ 14:10 | 10.30 2,423.21 0.0013 o| ot
#0 = st 10:13 ~ 14113 | 10.35 2,433.80 0.0014 oot
S|
ZR PN

(4point) i

#3 2 dbsk 10116 ~ 14116 | 10.34 2,432.62 0.0014 o| gt
#4 M ubs 10:20 ~ 14:20 | 10.34 2,432.62 0.0014 o| ot

Ol AH A H

ol #5 Lmolu 9:00 ~ 9:40 10.32 411 .42 0.0041 o| gt

m

(1point)

=7 SY7|IST|H &

, | #6 =T110:30 ~ 11:10 | 10.33 409.08 0.0046 o| ot

(1point) 0.3~1mo|Ly

o= _

) H 7| 2 9HE Lo A

HEE | #7 | f OEILH 16:00 ~ 16:40 | 10.35 404.50 0.0051 o| gt

m

(1point)

H7| 20 XHE 2

#8 17:00 ~ 17:40 | 10.33 405.04 0.0053 o| ot

2 HEl 1m oLl

7| S0 X[HE 2

#9 17:02 ~ 17:42 | 10.30 403.87 0.0049 o| gt

2 2E 1m O|Lf

.

Hol& H7| 20t K| o

OFMX|Z | #10 17:05 ~ 17:45 | 10.33 405.04 0.0054 oot

, 2 2e 1m o|uf

(5point)

7| S0 X[HE 2

P 17:07 ~ 17:47 | 10.33 405.04 0.0052 | ojoF

2 HEl 1m oLl

H7| 20 XHE 2

#12 17:10 ~ 17:50 | 10.31 404.26 0.0047 oot

2 2E 1m O|Lf
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5. 84d1}2013.07.21)
AR _ . _ HAags 2 2¢ =2x=g | =1}
=W s | 52 A =) miny | @) Hfar) | 0%
#1 Lt arsE 8:40 ~ 12:40 | 10.34 2,456.87 0.0014 ook
#0 5 urst 8:43 ~ 12:43 | 10.35 2,459 .24 0.0014 oot
25|
AAHM
(4point)
#3 2 gbst 8:47 ~ 12:47 | 10.31 2.449.74 0.0014 o| ot
#4 A oubst 8:50 ~ 12:50 | 10.35 2,459 .24 0.0014 o| ot
At EF
S #5 Al fe] 11:00 ~ 13:00 | 10.37 1,027.92 0.0026 o| gt
(1point)
Ol AH Al H
ol #6 T ol 10:10 ~ 10:50 | 10.33 410.45 0.0043 ook
m
(1point)
H7| S0 X|HE2
#7 = 16:00 ~ 16:40 | 10.31 406.94 0.0051 o| ot
2 2& 1m o|uf
H7| S0 X|HE2
#8 = 16:03 ~ 16:43 | 10.34 407.92 0.0053 ook
2 2E 1m olu
Iz PAE=
1= H7| 20t K| o
OFMX|AE | #9 16:07 ~ 16:47 10.32 407.33 0.0047 ojat
. 2 2E 1m O|Lf
(5point)
H 7| SoF x| H 2
#10 -1& 16:10 ~ 16:50 | 10.36 408.91 0.0054 oot
2 2E 1m O|Lf
7| S0 X[HE S
P 16:15 ~ 16:55 | 10.30 406.54 0.0051 o|ok
2 HE{ 1m oLl
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6. $8&1(2013.07.22)

AlB ) i ) HRes e 2 =x=g | X7
_|?|_ = - EXO‘I o EXO-IA —IE— O = . - o 1 O O
=T s | 59 SA =) | i) (0) GN/or) | of=
B|7| 2obE x| H o
n |H7IE 8:10 8:50 | 10.34 413.60 0.0053 | ojgt
2 2E 1m ol
H7| S0 X|H2
P 8:13 8:53 | 10.31 412.40 0.0046 | o|g
2 2E 1m ol
S
o7& HZ| 20 X|HE 2

ObMX|A | #3 8:16 8:56 | 10.38 415.20 0.0052 | ojgt
‘ 2 2& 1m olY

(5point)

H7| S0 X|H2

wn |H71E 8:20 9:00 | 10.33 413.20 0.0051 ojok

2 25 1m olYj

H7| S0 X|H2

P 8:23 9:03 | 10.36 414.40 0.0047 | ojg

2 25 1m olY
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#E AHZI(2013.07.22)

<sampling—#3>

<sampling—-#5>

<samp11ng #4>

5Pl wtE Soreld

CEEECIE=R]

Mot A 2 A R B oA b SXEAM MM, HARFH XH,

SlMAMET XH MEsE SYAT| o5 0.0046~0.00537H /02 SHEUC
E(MuiotHaly AW HI8Z (AR AT MOl Anu) 55
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